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QUESTION 1

Refer to the exhibit
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An administrator is planning an MPLS solution and wants to make sure that traffic from 10.1.0.0716 to 10.2 0.0/16 takes
the best path. The solution is not using Traffic Engineering (TE). How does PE-1 choose between the label advertised
for 10.2.0.0/16 by P-4 and by P-5?

A. based on which peer is the higher priority LDP peer

B. based on which peer is the next hop in the best route in the IP routing table

C. based on which link has the lower LDP cost

D. based on which link has the lower MPLS cost

Correct Answer: B

QUESTION 2

What is the purpose of the nickname in TRILL switch settings?

A. The nickname identifies the TRILL region and must match on every TRILL RBridge in the region.
B. Administrators can use the nicknames to identify switches in CLI output.

C. The nickname is the first factor for electing a root bridge

D. TRILL RBridges use the nicknames as source and destination addresses in TRILL headers

Correct Answer: D
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QUESTION 3

What is the relationship between a Forwarding Equivalence Class (FEC) and the MPLS label that a Label Switching
Router (LSR) advertises for that FEC?

A. An LSR assigns the same label to FECs with the same best next hop: labels remain constant across the MPLS
domain

B. The LSR assigns a unique label to each FEC, but labels assigned by different LSRs do not necessarily match.
C. The LSR assigns a unique label to each FEC. and that label remains constant across the MPLS domain

D. An LSR assigns the same label to FECs with the same best next hop; labels assigned by different LSRs do not
necessarily match

Correct Answer: D

QUESTION 4

Refer to the exhibit A company added a second data center IRF 1 and IRF 2 connect on direct Ethernet cables. What is
the simplest, most flexible and resilient option for the data center connection?
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A. link aggregation between IRF 1 and IRF 2
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B. VPLS solution between IRF 1 and IRF 2
C. EVI network between IRF 1 and IRF 2
D. IRF 1 and IRF 2 combined into a single IRF virtual device

Correct Answer: B

QUESTION 5

An administrator configures an HP Comware switch to support FCoE in Fibre Channel Forwarder (FCF) mode A switch
interface connects to a server FC host bus adapter (HBA). What is the correct configuration for this port?

A. bound to a VFC interface, which is in F mode
B. bound to a VFC interface, which is in E mode
C. FC port >n F mode

D. FC port in NP mode

Correct Answer: B
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